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Example 2
The length of a rectangle is 4 cm longer
than 3 times the width. If the perimeter of
the rectangle is 48 cm, find the dimensions.

L= 36\ 4820045 (2l
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L=3(5)+y 18=Bw 3
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L=15+g 40=%0.
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X3 Example 5 =4
A 1.5% acid solution is mixed with a 4%
acid solution. How many ounces of each
solution are needed to obtain 60 ounces of
a 2.5% acid solution?

X +y =60 Xay =60

.05 x +.O"|\{: (00(025) -y Y
015(60y) + TTa=pbéazs X=60-y

0 -.05y:8ly= 1.5 X=60-,

0.9 +0159=1.5

0.9 =09

3bouncesof the |57 0254=0.
Solukon 028 025

24 ounas o udl,
Solution

December

Example 1
Tony is 4 years older than his brother.

Six years ago, he was twice as old as
his brother. How old are each now?

‘IT(D = Z ( b'(ﬂ>
Fm*q'bfz(bw)
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Example 4
The sum of the digits of a 2-digit number is 12.
The tens digit is 3 times the units (ones) digit.
~ Find the original number.

Set up a system of equations.

t+u=12 —
u=3
t=3c3)\—J
Originl %93\ t = 4

Example 6
On a typical day with light winds, thel1 8001
mile flight from Charlotte, NC to Phoenix, AZ
takes longer than the return trip because the
plane has to fly into the wind.

a) The flight from Charlotte to Phoenix is 4 C -2 P Ll 6
hours and 30 minutes long, the flight from :
Phoenix to Charlotte is 4 hours long. Find P = C) L{
the average speed of the airplane on the

way to Phoenix and on the return trip to

Charlotte.

b) Use your answer from a to write and solve
a system of equations to find the speed of
the plane with no wind and the speed of the

wind-"P‘aN—7 425 M/L\ l
Wind =-25 mlh

P rw= Yoo
P -w=450

2p=850
2 2
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